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194 90
3.66  1.05
221 98

= 327

(N2=60)

2.83

39

1.93

3.30

2.17

SD

1.04

99

1.04

91

1.06

(N3=100)
SD
295 94
369 112
1.94 98
331 105
216 .98

306

3.66

1%

342

218

136

D

115

97

103

100



22,

23,

24,

25.

26.

28.

29,

14

()
(N=240)

(NI=80)

2.94

3.00

4.06

2.07

1.9

181

2.2

2.93

D

1.05

1.03

88

96

83

97

1.03

1.14

(N2=60)
$D
233 .99
221 .99
3.40  1.06
297 112
21092
163 74
200 89

2.63

1.06

(NS=100)
$D
241 98
258 1.09
3.60 1.03
296  1.07
227 .83
221 117
215 .98
273 101

257

2.64

3.10

267

213

193

214

217

137

D

103

108

102

113

86

103

97

107
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14 ()
(N=240)

(NI=80) ~ (N2=60)  (N3=100)
s s s s

280 91 317 108 321 & 30 169

ANOVA F ratio
(Scheffe)

(Scheffe)
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*D<.05

15

15

(N=240)

(G1=80)  (62=60)  (G3=100)
X SO X SO X SD
421 92 393 92 407 85

409 75 367 89 371 T8

140

F ratio

1.69

5.61*
(61>62 1
G1>G3)



*n<.05

«

L()

(N=240)

(G1=80)

X
3.46

4.24

4.26

2.69

2.11

391

4.22

SD
123

90

1.03

121

1.25

1.06

19

(G2=60)

X
2.80

3.58

3.65

2.9

3.21

3.60

3.83

SD
1.04

1.03

1.04

1.14

1.25

1.09

90

(G3=100)

X
2.71

3.37

3.72

2.34

2.57

3.54

3.85

SD
1.09

112

1.15

1.00

1.16

1.04

90

141

F ratio

9.75*
(61>G2,
G1>G3)

16.33*
(G1>G2 ,
G1>G3)

7.45%
(G1>G2,
G1>G3)

5.20*
(G2>G3)

6.40*
(G2>G1 1
G2>G3)

2.97

5.13*
(G 1>G2
G1>G3)
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5 ()
(N=240)

HUIAA NI | Wnmaies | Uszywu | F ratio

(G1=80) (G2=60) | (G8=100)

X |sp| X |SD| X |SD
AUMITOAIIVEIDATY 338 | 433 | 3123 | 420 | 30.08| 425 | 17.21*
(GI1>G2 ,
G1>G3)

*p<.05
(Scheffe)
Vv Vv Vv y
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10.

11.

12

13.

14,

15,

16
(N=240)
(GI=80)
X D
448 65
317 104
371 120
357 1.0
417 77
, 361 113

(G2=60)

X SD
477 46
390 .99
350 1.29
380 .95
453 .75
45 57

144

F ratio
(G3=100)
x D
481 42 9.37*
(G 2>61
G3>Gl)
377 100 11.19*
(G 2561
G3>G1)
357 126 54
384 98 1.70
448 73 b.1*
(G 2561
,G3>G1)
414 83 17.81*
(G2>G1
G3>G1

62563)
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16( )
(N=240)
F ratio
(GI=80)  (G2=60)  (G3=100)
X S X S X D
16. 452 57T 485 48 456 .70 5
2

2126 32 2965 282 2917 297  13.25*
(Group

G2>G1 1
G3>G1)

*n<.05
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